
TPL-MOUNT-BAR-V1TPL-MOUNT-BAR-H1

TPL-MOUNT-HPFD-V1

SWIVEL-MOUNTSWIVEL-MOUNT-T

TPL-MOUNT-HPFD-H1

Washer x2
Washer x2

Screw x2
Screw x2

Screw x2

Screw 2x2
Screw 2x2

Screw x2

NEW MOUNTING DEVICES

TPL-MOUNT RANGE

TPL VISION • Parc d’Activités de Tournebride, 6 rue Nicolas Appert, 44118 La Chevrolière – France • Tel. FR: +33 (0)2 40 56 10 99 • Tel. UK: +44 (0)1738 310 392 • www.tpl-vision.com

T-Nuts x2
BAR LIGHT

Screw x2 (M4)

Threaded pin 
for locking angle

Tight tolerance pin 
for locking angle

Screw x2
(M4)

Screw x1 (M8)

Tight tolerance pin 
for locking angle

Threaded 
pin (M4) 
for locking angle

All screws 
provided.



TPL-MOUNT-TRING-H1

TPL-MOUNT-BAR-SQUARE1TPL-MOUNT-MR

TPL-MOUNT-HPB-SQUARE1 TPL-MOUNT-SBACK-SQUARE1

TPL-MOUNT-TRING-V1

TPL-MOUNT-HPRING-V1TPL-MOUNT-HPRING-H1

Screw x2

Nut x2

Screw x2

Nut x2

Screw x2

Screw x2
(CHC M3x5)

Screw x2
(CHC M4x12)

TPL VISION • Parc d’Activités de Tournebride, 6 rue Nicolas Appert, 44118 La Chevrolière – France • Tel. FR: +33 (0)2 40 56 10 99 • Tel. UK: +44 (0)1738 310 392 • www.tpl-vision.com

Fe
at

ur
es

 a
nd

 p
re

se
nt

at
io

ns
 li

ab
le

 to
 c

ha
ng

es
 w

ith
ou

t n
ot

ic
e.

 
Re

f.U
G

-1
00

50
1-

E1
, 0

7/
25

 e
di

tio
n.

Screw x4
(CHC M3x16)

Screw x2
(CHC M4x12)

Screw x4
(CHC M3x16) Screw x2

(CHC M4x10)

Screw x1 Screw x1

Screw x2


